Operations with Integers and BEDMAS (Lesson).notebook

UNIT 1: Solving Algebraic Equations
Operations with Integers & BEDMAS

Learning Goal:
1 will learn how to simplify expressions including integers.

Lesson: Operations with Integers & BEDMAS

Adding & Subtracting
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a)-7+9= b)-5+3= c)8+(-4)+1=
= =-2 =g-4+|

= &
d)2-(4)= e)6-(-1)= f)-9-(-11)-2=
=2-4 =t -qyil-2
= -2 = F =0
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a)-3+6= 3 b)-1+7=|p c)a+(-4)+2=
sS4y =2
wma¥es Pos'n'H"C = 2
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d)-1-(9)= e)8-(2)= f)-12-(-6)-1=
= ~1-9 = g+ = azvrb-|
= =IO = )0 = =F
Multiplying and Dividing

First, multiply or divide, then choose the sign for the final answer
® same signs equal a positive (eg.-3x-2=6)
e opposite signs equal a negative (eg. -3x 2 =-6)

Examples | - ¢ v
a)-4x2= b)-12+2= c)-1x-3=
& -8 = -b =32
different signs znqatwe. :
¢y . 3
d) (5)(-4) = e) 45= f-2(-7) =

5

520 =9 =14




Operations with Integers and BEDMAS (Lesson).notebook

Order of Operations (BEDMAS)

1. BracKets

2 Exponents s '
3 Divisiont ® L’lulhp\\cahom

% pddihon + Subtracton

simplity o\ o wz‘@f;
a3+s5x2= W7 B7xs-2)= S0 ga) 3
=3+ 10 = 1x(3) ”8*‘(‘3)
543 = 2) = 8-3
= 5

d)2(1)(3)- 4 ) 2(5) - (1+2)*= f)2+8-14-2
= 6-4 = 25) - (3)* 7*2 4:

: % =10 - 12
=2 =2(5)-19 = 3

= 1079 = 2z-4

= , = _‘2.
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a)-2x4= b)-5x-3= ¢} (5)(-4) =
ik = |5 =-20
d)9+-1= €)10 +(-2) = 6=
) a1
- —‘1 = _S‘ -
\ ’ \
s oug, TuRy:
Simplify
a)2x3+1= b)6x(3+4)= ) 2(5) + 4(-1)
= b+l = lbx (1) =10 + (-4
= 3 = 42 = b
d) 2(1)(3)- 4 e)25}-{1+ 2= f)2+6 +12-2
s b4 24 - (193)* 31 4
- 22N~ (4)= =28 + 10
2. = e
=2(4)-lb _
. 8_”, = 2+2
= -8 s

UNIT 1: Solving Algebraic Equations
Operations With Integers & BEDMAS

Learning Goal:
1 will learn how to simplify expressions including integers.

Success Criteria:

To be successful, | must be able to...

e Add and subtract integers using the number line

e Multiply/divide integers by multiplying/dividing the number, then
determining the sign (same signs = positive answer, different signs =
negative answer)

o Simplify expressions using BEDMAS

Example:
-4(1-3+32)-(5-2)

=-4(1)-(3)
= _4_3
= -7




